Maths IB2

Test 1 9 October 2024

subijets : First Principle € rules of derivation

Tot :| / 45 marks]|

Answers

Problem 1 [5 marks]|

Let us consider the function f:x+— 2 — 2z
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The value of xy such that the gradient of the tangent at zg is 10 is

Problem 2 [40 marks|

For the following functions, find

i) the derivative,

ii) the gradient of the tangent at x =z ,

# function o derivative gradient tangent
at x =xg
1 200 — 2 dat— 14 50
1 -2 1
2| 36-3/x=36-23 8 12-2 %= 3
32 < 16

3 8 + —= =8r + 3217 4 8+% 16

37 m 3 . T 37
4 (7x77) cos(z) 5 7cos(x)f(71'77)sm(z) 07(72 -3 )=2m
5 e*cos(x) 2 e*(cos(x) — sin(z)) ez(g - g) =0

2 -1 4x
6 PR 1 CEESHE 1
7 esin(x) 0 e (@)cos(z) 1
8 22 1n(z) 1 21'111(1')+332%:9U(21n(1')+ 1) 1
9 cos?(z) 2 2cos(x)sin(z) 2@@ =1
10 sin(z?) 3/ 3z%cos(z3) 3(3/m )cos(m) =—3 Vr?

Bonus The derivative of f(x)= e ‘ o€ gle)  gu | [+3]
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